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2, Enunciato the Parallelogram of Forces.

Show that as tho angle botweon tho forces is increased the result-
ant ia diminished. If each force beincreased by a forco of the same
magnitude, how will the direction of tho resultant be affected; and
lrow if tho forces bo increased in the samo ratio.

3. A weight of 100 1bs. is carricd on & square board, supposed
without woight, by four men, one at cach corner. Constiuct for
tho position of the weight that they may support respectively 10,
20, 30, 40 1bs. )

4. Tho orms of a balance are a and b inches in longth respective-
ly. “What fractional part of his goods would a dealor gain or lose,
who, in sclling 10 lbs., for example, balances the 6 1b. weight first
in ono pan and then in the other?

B. is an inclinod plane, AC horizontal, BC vertical, and the
ungle BAO is 30°. A woight of 12 Ibs. is kopt at _tho widdle point
of AB by a string passing through the plane and attached to C;
find tho tension of the string and the reaction of the plane. To
what points in AC could tho string, supposed tense, bo fastened so
that equilibrium would be possible ? .

6. A triangle ABG, whose angles are 30°, 60° and 90°, rests with
its hypotonuse AB horizontal, and on the sides CA, OB weights
support cach other by being attached to a strinfg that passes over C.
Find thoe ratio of the weights. If, tho triangle remaining in the
same position, the string bo horizontal, what is the ratio of the
weights .

7. A cylindrical vessol is partl]y; filled with water; examine ac-
curately the cause and nature of the changes in the pressures on the
sides and bottom of the vessol and on the table supporting tho ves-
sel, owing to a piece of wood being placed in the water. .

If & vacuum were in some way created within the fluid, owmgf\t.o
whicl it rose in the containing vessel, would any change take place
in the pressuro on the table?

at changes would tako place in the mercurial column of a
barometer, if within & diving bell, as the bell rose or sank? What
if in lxtx?e upper part of & pump, as the water rose in the pipe below?
Explain, ) :

91.) In tho common pump find the resultant pressurc on a piston
6 inches in diameter, the water in the pipe below standing 12 feet
above the surface of the water in the cistern, and tic pressure of
the air being 16.lbs. to tho square inch. A enbic “-ot of water
weighs 1,000 ounces.

alues,—1, 3+64-4; 2, 4-+44+-443:3,13; 4,13 ; 5, 16; 6,163
7,13; 8,8; 9, 13,
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1 My own (Enone,
Beautiful-brow’d (Enone, my own soul,
Behold this fruit, whose gleawming wond ingrav'n
¢ For the most fair,” would seem fo award it thine,
As lovelier than whatever Orcad haunt
The knolls of Yda, lovelicst in all grace
Of movement and the charm of married brows.”
—Tennyson.

(i). Analyzo fully.

i1). Parse the italicized words.

§. Correct the literary form of the following selections :

“ This method is rather difficult for young pupils, but by com.
bining this method with the Look and Say method X think it forms
a very good mothod.”

““ One methoed is to tench the words in the order they are in the
lesson, tha fault of this is that the pupils soon learn the words by
rote, te say them even without a book.

‘“ Another is to pronounce eack word after having spelt it first, the
s&;.ltix;g‘ ,l'etter having different sounds in differont words confuses the
pe :

‘‘The method of teach. ¥ reading, by first pointing ont words
and having them pronouncec properly, and then the teacher read-
ing the sentenco as it should bo read, and the pupils read after-
wards, trying to imitate the teacher as much as possible, is to be
commended,” -

‘“In the Look and Say method the word is taught 28 a whole
which is most natural, the words should be printed on the board
and pointud out o tho child until its picturo is familiar tohis cye he

will then be ablo to name the word whenover ho sees it.”

¢ We may then show that this may be done by inverting the di-
visor and then proceed acesrding to multiplication,™

** Afterwards question the class individually upon that part that
you will be sure they all know.”

¢ Tirst, present one object to the pupils, and ask the namo of the
object ; thoy will answer an aplilo (or whatover name tho object is)
write the word * np{)lo * on the black-board, and tell them that the
word ‘apple’ stands for only one object.”

4By this mothod children * * ¥ arg not confused by the
differonce of the sound of the letters when pronounced alone and
their sound when combined to form a word.”

¢ A transitive verb is a verh that tho action passes from the ac-
tor to the object.”

*¢ Being there wassuch a number there he was afraid to proceed.”

¢ Sir I have just recoived word from tho Secretary that I failed
to pass the examination in Chemistry and that ¢ will have to satis-
fy the Examinors hereafter as to my knowledgo of that subjec..’

As you was the Examiner in that subject T would like to know
what must I do in order to pass in it.

bave now been to * * * twice attending the Normal there
and if it wore possible to pass without having to go again I would
like it vory much.

If you would be kind enough to inform me of what is the best
course to pursucl would be greatly obliged.”

3. (i). Docs equation rhyme with relation or occasion ?

(ii). Docs rind rhyme with signed or sinned ?

(ii1). Distinguish ay and aye as to pronunciation and ieaning.
(iv). Accontuate complaisant, sonorous, peremptory.

4. Distinguish between

Wait on and wait for.
He entered the literary profession and He entered a literary
rofession.
Invalid and invalid.
8. Punctuate the following sentence in {wo ways:—
John says William is both an able and a good man.

6. Correct, or justify—

The auxiliaries may, can, and must are by some vegarded as prin-
cipal verbs.

Cornaro had become very corpulent previous to the adoption of
his temperaty habits.

Neither I nor he live anywheres in the neighbourhood.

7. Parse the italicized words in the following sentence :—

‘“ The results which God has connected with actions will inevit-
ably occur, all the created poicer in the universe fo the contrary
notwithstanding.”— Wayland.

8. The varb agrees with its nominative in number and person.
Show how this rule applies in the various cases in which a verb is
preceded by two or more nominatives.

9. Write sixteen words derived from the Latin verb pello.

Values.—1, 104-42; 2, 48; 3, 24-24-6+3; 4, 12; 5,2; G, 12;
7,9; 8,16; 9, 16.
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Stz RoGER DE COVERLEY.

1. Sketch the character of the Chaplain.

2. **The court was sat before Sir Roger came ; but notwithstand-
ing all the justices had taken their places upon the bench, they
made room for the old knight at the head of them ; who, for s
reputation in the country, took occasion to whisper in tho judge's
ear that ho was glad his lordship had met with so much good
weather in his circuit.”

(i). What court was thix? .

(i1). Who are meant by ‘the justices’?

( iiiﬁ_ For his reputation in the country. Explain the force of ‘for.’

3. How did tLo Spectator differ from a modern newspaper?,

THe Lavy or THE Lake.

4. Givo an account of the gathering of the clans, introducing quo-
tations where you can.

6. “Buthark! what blithe and jolly peal

Makes the Franciscan ateeple reoi) ?
And see ! upon the crowded street,
In motley groups what masquers meot !



